Measurements and Calculations

Class Date

Which property of a distilled water
solution will not be affected by adding
50 mL of CH;OH(l) to 100 mL of the
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What is the t6tal number of grams of HI
in 0.500 liter of 1.00 M HI?

o Approximately how many calories of heat
are needed to completely change 10 grams
of ice to water at the melting point
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EXpic he carrect numbeéir of A hydrateMsalt|is|a solid(at In¢/ides
significan] iss, thesumotivo J water-molecutes withirr its crystal

masses is 445,2 grams.

Which two masses produce this answer?

A 210.10g+235.100 g
B 210.100 g+235.10 g
€ 210.1g+235.1g

D 210.10g +235.10 g

structure. A student heated a 9.10-gram
sample of a hydrated salt to a constant
mass of 5.41 grams.

What percent by mass of water did the
salt contain?

A 3.69% C 40.5%
B 16.8% D 59.5%
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